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PROC broker() {
put all nodes into IDLE queue
do {

receive a message from node s
switch (message-type) {

case T_BSY:
move s to BUSY queue
break;

case T_REQ:
if (IDLE queue not empty) {

if (node s is in IDLE queue) 
candidate = s;

else  
candidate = tail node in IDLE queue;

move candidate node to BUSY queue
send T_CND to node s

} else if (BUSY queue not empty) {
if (node s is in BUSY queue) 

candidate= s;
else  

candidate = head node in BUSY queue;
move candidate node to LOADED queue
send T_CND to node s

} else 
send T_BOH to node s

break;

case T_IDL:
if (LOADED queue is empty) 

move node s to IDLE queue
else {

move node s to BUSY queue
candidate = head node of LOADED queue;
move candidate to the tail of LOADED queue
send T_TRY to candidate

}
break;

case T_NWK: /* s’ is the originator of T_IDL */
if (node s is in LOADED queue) 

move node s to BUSY queue
if (LOADED queue is empty) 

move node s’ to IDLE queue
else {

candidate = head node of LOADED queue;
move candidate to the tail of LOADED queue
send T_TRY to the candidate

}
break;

} /* end switch */
} while (TRUE);

}
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PROC manager() {
call_broker = TRUE; pending = NULL;
initialize spent_ticket vector to 0
do {

receive message from node s
switch (message-type) {

case T_BOH: /* broker has no answer */
call_broker = FALSE;
behave as if T_SRC had arrived

case T_SRC: /* brand new task from generator */
if (pending != NULL) {

send pending task to local server;
call_broker = FALSE;

}
if (call_broker) {

pending = current task;
send T_REQ to broker

} else { 
choose a candidate basing on ticket vector
spent_ticket[candidate]++;
send T_WRK message to candidate

}
break;

case T_CND:
if (call_broker) {

spent_ticket[candidate]++;
send T_WRK message to candidate

} /* otherwise ignore the (late) reply */
pending = NULL;
break;

case T_WRK:
queue_len++;
if (queue_len == 1) {

send task to local server /* which was idle */
send T_BSY to broker

} else 
enqueue task on local task queue

break;

case T_DNE: /* local server returns a task done */
queue_len--;
if (queue_len > 0) 

send new task to local server
else { /* local server is now idle */

call_broker = TRUE;
send T_IDL to broker

}
send T_TKT to the originator of the task
break;

case T_TKT: /* remote server returns a ticket */
spent_ticket[remote_server]--;
break;

case T_TRY: /* broker requests a task */
call_broker = TRUE;
if (queue_len > 1) {

take first task from queue 
queue_len--;
send T_WRK to requestor

} else 
reply T_NWK to broker

break;
} /* end switch */

} while (TRUE);
}
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